=
<

(0 @) (rad)
o(d cot(v))

1072

10

Ratl

0.95 :
107 1

-1 2 3 2 3
10 1 TPlpg)T (PCA t%obeamlinélf) TPlpoT (PCA t%obeamliné[f)

—s=— DQM_V0001_R000000001__Global__CMSSW_mktt50i7_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt50i4_RECO

.

SICEWACL
oloa) (cm)

01053 cevng b d W
g | ' :
24 r :
R 1 3 e :
0'950-'1 l 0 (:JZ 3 ot 1 10 (:)2 3
! ! TPlpT (PCA tlo beamling'f) TPp, (PCA t]b beamling'f)
n=
2
D_)—
o
<]

*‘—6' r 1 B :

04 r
1_— ---------- P A o T
0.95L :
101 1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


